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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

SH AlSYAAT & & HET §| AT vF F IR geT 3N Hwr & F
aier geaT Bl

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

HIT T “Johfoush” GehY 1 & forash el 3ich 40 § dum #mr al,
“eIFIRF" JFR & 3R gHF Tl 3 60 B

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination halllroom without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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3rflear I ST X IF g & & 6 ge-qiEdas ucds
gfee & |qor 3

After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / |l Ud

(Answer all the questions) / (W4l T%H & IR <)

URA® Y & SR & g fdbed 1 3y M0 F |
Ug FI SUYE fdbed g SR S [feriaa
el & AR USF UF & I Sucel HAY Y
"IN IR W55 H <of BN |

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein. (1x10)

1. f3fStee dFcgex gorell & et aea s
g:

A)  HAN, FAYE/IMECYE, SIUAT

B) Ty, TTY, AARY

C)  HAN, $IYe/3M3eYE, IO

D) ehelol Hiched, TTerg, ST
The three main components of a digital
computer system are:

A) Memory, Input/Output, DMA

B) ALU, CPU, Memory

C) Memory, Input/Output, CPU

D) Control Circuits, ALU, Registers

12 @ & d ol g1 aRadaeie &2

A) ool AART

B) RAM

C) ROM

D) Hifeh faeh
Which one of the following is volatile?

A) Bubble Memory

B) RAM

C) ROM

D) Magnetic Disc

1.3 fae & @ @ @ 9zl et 4 g@nn
IEES ISR Y

A) 101010

B) 100101100

C) 1110001

D) 100011
Which one of the following binary number
s is divisible by 4?

A) 101010

B) 100101100

C) 1110001

D) 100011
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1.4
A)
B)
C)
D)

A)
B)
C)
D)

15
A)
B)
C)
D)

Teh TSI &l HATR el b1 AT 7AH &
Cache &

TAER A

YT H

HAfee foem &

The cost of storing a bit is minimum in:
Cache

Register

RAM

Magnetic Disc

sle AT X & RsilerdeT & A7 gichl 8
HAeafeeg &

Sfew i & 3

géor #

SaH

The resolution of a dot matrix printer is
measured in:

Megabits

Dots per inch

Hertz
Inches

[EGERIEIRC RN
3R fEsT gotrelr
3iiftha g

QT HATeAh

TS IRETelsT YoTTell

Linux open source is an
Operating System

Office Tool

Programming Standard
Proprietary Operating System

373 9 9T TIST & ST1HeT 19 & 61T g

N\

°

URL
DNS
DNS
TCP

maps IP address with domain name

of sites.
URL
DNS
DNS
TCP
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1.8 DBMS 2Teg &1 371 §-
A) Bfee IR AT giteaR
B) 32T o Heloie ReeH
C) S TR Helodie AlFeday
D) 32T 89 AAoie Aivedax
The term DBMS stands for-
A) Digital Bar Management Software
B) Data Base Management System
C) Domain Based Management Software
D) Data Base Management Software
1.9  HaAISs AT T foRdT ST a1at a9 sioR
g:
A) geLEAT
B) ACERT
C) A) 3 B) @it
D) Sujerd H A IS AT
The most commonly used web browser is:
A) Internet Explorer
B) Netscape
C) Both A) and B)
D) None of the above
1.10 U Assad & ST g &.
A) 2
B) 4
C) 8
D) 16
A Nibble consists of Bits.
A) 2
B) 4
C) 8
D) 16
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21
2.2
2.3
24

25

2.6
2.7
2.8
29
2.10

21
2.2
2.3
24

25

2.6
2.7

2.8
29
2.10

T 1Y YA faawor a1 o I A1 ¥ B |
Ug FI SUYAT fdbed g SR S Freferi

feel & THR U U @ WrRf JUTE HRY Y
“ITTHRIR TR 55 § Tof B | (1x10)
U d15¢ foledol & 98T &I &.
RelRIeTol STTed T U U ¢.

TR & 3727 § 3ifTteehel ohaX ST

ThleT &l Rellegert fSidar 3oa gem, e
3T 37T g

AT Toh hATS ollgeT Jo¥ Ve oy SR fear
YOIl &.

Th S13C TIGUT I T BIET IHTS &.

3ieFee . 473 T ST AT 100111011 §.
Cache FHANY HET AART § SFTET ITAHAT &.
ALU #ff CPU &T #1197 2.

MS Word T YOTTell HIFea §.

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer
sheet supplied with the question paper,
following instructions therein. (1x10)

A byte is bigger than nibble.
The row of relational database is tuple.
OCR stands for Optical Care Reader.

The higher the resolution of screen, better is
picture quality.

A Linux is a command line user interface
operating system.

A byte is smallest unit of storage.

The binary equivalent of octal no. 473 is
100111011.

Cache memory is faster than main memory.
ALU is part of CPU.
MS Word is a system software.
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aicd X # fov v vt iR arRt o1 fd™ ofewm Y ¥ U U Moeaw wafg sl / sl / ari § aY |
I &Y T SRRl $T UTeH B gU 31U fded Yo UF & AR T AT “HIHIR T STR TAB H q9l BN |(1X10)

X Y
31 |49 8 ¥ |1y UF ia< JOMe A. | saerafsa
3.2 | @relt AN Y ITUTAT &THAT T ST F Tol el BTSdI I AIRIT 315 B. |g@aam
HIFedaX HI .
33 | dwarcHe S ud & eTwy e 3T [Eea. C. |&uEer
34  |ue @ O ArgAT SR ufafdst, eafaai, aifsa, coee 3nfE @1 3uter D. | 3ica
ok AR foRaT IraT U S
35 | AR &I3 AT JeTdlE HHI FeT hIs 7 Il & E. | wwwWWW
3.6 | =gl 3TN et YA S §-37dT, $-h1eAd, $-arae14, T, |raer F. | #cdenfzan
sreafher 3fe & ford foraT SITaT 8.
3.7 | FFeye W SiST AT i JHTIRerd ST, G. | 3ffufeer yomelr
3.8 | Taeas # YW I SEAASA T S8 AT 3 HIGOT. H. | oRfer
3.9 |¥g Acad craldlel T Teh YHK . .| gex=ae
3.10 | Tes U 1 39 FAT IX TR FeT T Ifha. J | 'R
K. |[HTTP
L | sdetar
M. | sgeifder
4, A 3y T YA a1a | A < TS A W U W AT G Bl @lell R A AN | HeE Swad [qded g 3iR
I Efefad sFeel & SFJAR YT U & |Rf {IY Y “SHITHAR" ITR UG § AT fdbed aof eX | (1x10)
A. Raa B. T C. iR
D. | zerRgEw E. | seramafdar F. | 307 sek
G. | 1000 H. | e Rerg=q I. [ LAN
N J— K. | 1024 L. | uges
M. | RAM
4.1 1hdl_ dEch N g
42  __ UHZIYC - IT3CYE el 3T .
43 Toloerd elol 3 STar oY 3menRe Aldrger 3uehior & Tl Teh IRmeeT Yotrel 2.
44 _ THYBHIHANE
45 UTH B HAHG
46  HIARA ST & TUR W 77dl GTcrAT T GaTTHT 9T & T 3T o SiTet arel 37 & o3 TR E3H &
__ @EISarg
47 B cad & Aafer 3 o i segaAfa ar.
48 Sl & 3eIoha HT AIYFA YT, Sl Felolel bl 1 IR AT S, gl Sflell &
4.9 3TN AT A FHLMT olodst & 3t FUAH R HEI A 8.
410 FFPR HraAcaiha s e HUR HAIH 8.
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 |[A number system with base 8. A. Downloading
3.2 |Layer of software embedded on bare hardware to enhance the B. Domain Name
computing capability of bare machine.
3.3 |Text based strings corresponding to numeric IP address. C. Compiler
3.4 | Asingle work assembled using elements from more than one D. Octal
medium like images, sounds, videos, text etc.
3.5 |Translates source code into equivalent machine code. E. WWW
3.6 [Itis used for various purposes like e-mail, e-commerce, e- F. Multimedia
governance, education, social networking etc.
3.7 | Any extra device added to the computer. G. Operating System
3.8 |Large scale collection of documents located worldwide. H. Peripheral
3.9 |[ltis atype of network topology. L. Internet
3.10 | The process of storing a page on web server. J. Star
K. HTTP
L. Decimal
M. Uploading
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. Ariel B. Printer C. Animation
D. Data Warehouse E. Data mining F. Assembler
G. 1000 H. Hard Disk Drive . LAN
J. Cables K. 1024 L. Android
M. RAM
4.1 1 KB equals bytes.
4.2 is both an Input-Output device.
4.3 is an operating system for mobile devices based on the Linux kernel and Java.
4.4 is a primary memory.
45 is the name of a font.

4.6 A big store house of data used for predicting futuristic trends based on the data stored is known as

4.7 allows sharing and communication of small networks.

4.8 Rapid display of sequence of images to create illusion of movement is known as

49 Program to translate assembly language to machine language is known as

4.10 is @ medium of communication for networking of computers.
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AT €1 /| PART TWO

($% IR YA BT R ?f)/(Answer any FOUR questions)

5.

a) (147),0 T ST T&aT # gRafdd e

b) FFYT T selleh STeATH & 3N 3qhT  sarEdT
&

c) 3iaRfEaT YoTrel & HET Hrat 1 sarear .

a) Convert (147) to binary number.

b) Give block diagram of a computer and explain
it.

C) Explain basic functions of a operating system.

(5+5+5)

6.

a) MS-Word # Macros I saT&ar a.

b) 3T TR AT ofdder 3R [T TR &1 dedat &r
3ETEON & AT SATEAT FY.

c) OecH diredR 3R tiasdd didcday W

a) Explain macros in MS Word.

b) Explain high level language and low level
language with examples.

C) Write short note on system software and
application software.

(5+5+5)

7.

a) faffiest St F gec NeA@h & fafde
UfCHh =il o fa faavor ferdd.

b) Tafee=T Usice Uiay wdigc & 37el9T TlEs o
SiIgeT o ol g IR Teldrd FeATeT hT UfohaT .

c) STEAT &Y foh FIdIET & Tarss aRadeT o fomar
ST &

a) Explain in detail the diverse application of
Internet technology in various domains.

b) Give the process of creation of hyperlinks to
link to a different slide in different presentation
power point.

C) Explain how slide transition is used in ppt.

(5+5+5)

8. foreer o¥ feoqoft for:

a) HAIY FT qofiehoT.

b) T o 3T,

c) FAB R 3R FTUX & 1T R TdM.

Write notes on:

a) Classification of memory.

b) CPU components.

C) Differentiate between Compiler and Interpreter.

(5+5+5)
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a)

b)

a)

b)

T Tl dic 9713, AL 9 A10 8T H 5T o,
Sued Aol & SiIg & ol ALl # 3R Silg o
3 TAhrelet & fodr A12 & Tiayell Tord.

gL o ATETH § Il & 3HROT ¥ 578 FRET
TE o3 T saTEAT Y.

RTega=T, Teiere Y3 3 Roper Y@ ersal &
STEAT &Y.

Create an excel sheet, fill in the numbers Al to
A10 cell, write formula to sum the above
numbers in A11 and to average the sum in
Al2.

Explain security aspects associated with
transfer of information via internet.

Explain the terms resolution, aspect ratio and

refresh rate.
(5+5+5)
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